

5.5

5

① a) Laurent series for $\frac{1}{z+z^2}$ in

② $0 < |z| < 1$ (since $|z| < 1 \Rightarrow \sum_{j=0}^{\infty} z^j = \frac{1}{1-z}$)

المطلوب متسلسلة قوى لـ $(z-0)$

$$\therefore \frac{1}{z+z^2} = \frac{1}{z(z+1)} = \frac{1}{z(z-(-1))}$$

$$= \frac{1}{z} \cdot \frac{1}{1-(-z)} \quad (\because |z| < 1 \Rightarrow |-z| < 1 \text{ and } |z| = |-z|)$$

$$= \frac{1}{z} \cdot \sum_{j=0}^{\infty} (-z)^j$$

$$= \sum_{j=0}^{\infty} (-1)^j z^{j-1}$$

③ $|z| > 1 \Rightarrow \left|\frac{1}{z}\right| < 1$ $\therefore \frac{1}{1-\frac{1}{z}} = \sum_{j=0}^{\infty} \left(\frac{1}{z}\right)^j$

المطلوب متسلسلة قوى لـ z

في مناطق $\sum_{j=0}^{\infty} z^j$

$$\therefore \frac{1}{z+z^2} = \frac{1}{z^2} \cdot \frac{1}{1+\frac{1}{z}} = \frac{1}{z^2} \cdot \frac{1}{1-(-\frac{1}{z})} \quad (\because \left|\frac{1}{z}\right| = \left|-\frac{1}{z}\right| < 1)$$

$$= \frac{1}{z^2} \cdot \sum_{j=0}^{\infty} \left(-\frac{1}{z}\right)^j$$

$$= \sum_{j=0}^{\infty} \frac{(-1)^j}{z^{j+2}} = \sum_{j=0}^{\infty} (-1)^j z^{j-2}$$

$$= \sum_{j=2}^{\infty} (-1)^{j-2} z^{j-2}$$

④ $0 < |z+1| < 1 \Rightarrow \sum (z+1)^j = \frac{1}{1-(z+1)} = \frac{1}{1-z-1} = -\frac{1}{z}$

المطلوب متسلسلة قوى لـ $z+1$

$$\therefore \frac{1}{z^2+z} = \frac{1}{(z+1)z} = \frac{1}{z+1} \cdot \left(\frac{1}{z}\right)$$

$$= \frac{1}{z+1} \cdot \left(\frac{-1}{1-(z+1)}\right)$$

$$= -\frac{1}{z+1} \cdot \sum_{j=0}^{\infty} (z+1)^j = -\sum_{j=0}^{\infty} (z+1)^{j+1} = -\sum_{j=1}^{\infty} (z+1)^j$$

d) $|z+1| > 1 \Rightarrow 0 < \left| \frac{1}{z+1} \right| < 1 \Rightarrow \sum \left(\frac{1}{z+1} \right)^j = \frac{1}{1 - \frac{1}{z+1}}$ (6)

$$\begin{aligned} \therefore \frac{1}{z(z+1)} &= \frac{1}{z+1} \left[\frac{1}{z+1-1} \right] \\ &= \frac{1}{(z+1)^2} \left[\frac{1}{1 - \frac{1}{z+1}} \right] \\ &= \frac{1}{(z+1)^2} \sum_{j=0}^{\infty} \left(\frac{1}{z+1} \right)^j \\ &= \sum_{j=0}^{\infty} (z+1)^{j-2} \\ &= \sum_{j=0}^{\infty} (z+1)^j \end{aligned}$$

3] $\frac{z}{(z+1)(z-2)} = \frac{(1/3)}{z+1} + \frac{(2/3)}{z-2}$

a) $|z| < 1 \Rightarrow \frac{1}{1-z} = \sum z^j$
 مجموع الجذور على شكل

$$\therefore \frac{z}{(z+1)(z-2)} = \frac{1/3}{z+1} + \frac{(2/3)}{z-2}$$

$$\begin{aligned} &= \frac{1}{3} \left[\frac{1}{1-(-z)} \right] + \frac{2}{3} \left[\frac{1}{-2(1-z/2)} \right] \quad \left(\because |z| < 1 \Rightarrow |z/2| < \frac{1}{2} < 1 \right) \\ &= \frac{1}{3} \sum_{j=0}^{\infty} (-z)^j + \frac{1}{3} \sum_{j=0}^{\infty} (z/2)^j \end{aligned}$$

$$= \frac{1}{3} \sum_{j=0}^{\infty} (-1)^j z^j - \frac{1}{3} \sum_{j=0}^{\infty} z^j / 2^j$$

$$= \frac{1}{3} \sum_{j=0}^{\infty} (-1)^j - 2^{-j} z^j$$

b) $1 < |z| < 2$ (1 - (-z/2))

$$\begin{aligned} \therefore \frac{z}{(z+1)(z-2)} &= \frac{(1/3)}{(z+1)} + \frac{(2/3)}{(z-2)} = \frac{1}{3} \left[\frac{1}{-z(1+1/z)} \right] + \frac{(1/3)}{-2(1+z/2)} \\ &= \frac{1}{3z} \sum_{j=0}^{\infty} \left(-\frac{1}{z} \right)^j + \frac{1}{3} \sum_{j=0}^{\infty} \left(+z/2 \right)^j \\ &\quad \downarrow \qquad \qquad \downarrow \\ &\quad \text{as } |1/z| < 1 \qquad \text{as } |z/2| < 1 \end{aligned}$$

(7)

$$③ \quad |z| > 2 \Rightarrow \left| \frac{1}{z} \right| < \frac{1}{2} \wedge \left| \frac{2}{z} \right| < 1$$

$$\therefore \frac{z}{(z+1)(z-2)} = \frac{\frac{1}{3}}{z+1} + \frac{(\frac{2}{3})}{z-2}$$

$$= \frac{1}{3z} \left[\frac{1}{1 - (-\frac{1}{z})} \right] + \left(\frac{2}{3} \right) \left(\frac{1}{-z} \right) \left[\frac{1}{1 - \frac{2}{z}} \right]$$

$$= \frac{1}{3z} \sum (-\frac{1}{z})^j + \frac{1}{3z} \sum (2/z)^j$$

$$= \frac{1}{3} \sum (-1)^j z^{-j-1} - \frac{1}{3} \sum 2^j (z)^{-j-1}$$

④ Laurant Series for $\sin(2z)/z^3$, $|z| > 0$

$$\therefore \sin(2z) = \sum_{j=0}^{\infty} \frac{(-1)^j (2z)^{2j+1}}{(2j+1)!}$$

$$\Rightarrow \frac{\sin(2z)}{z^3} = \sum_{j=0}^{\infty} \frac{(-1)^j (2z)^{2j+1}}{(2j+1)!} \cdot z^{-3}$$

⑤ $\frac{z+1}{z(z-4)^3}$ in $0 < |z-4| < 4$

$$\text{Since } \frac{z+1}{z(z-4)^3} = \frac{A}{z} + \frac{B}{(z-4)} + \frac{C}{(z-4)^2} + \frac{D}{(z-4)^3}$$

$$= \frac{(-1/64)}{z} + \frac{(1/64)}{z-4} + \frac{(-1/16)}{(z-4)^2} + \frac{5/4}{(z-4)^3}$$

$$= \left(-\frac{1}{64} \right) \left[\frac{1}{z-4+4} \right] + \left(\frac{1}{64} \right) (z-4)^{-1} + \left(-\frac{1}{16} \right) (z-4)^{-2} + \left(\frac{5}{4} \right) (z-4)^{-3}$$

$$= \left(-\frac{1}{64} \right) \left(\frac{1}{4} \right) \left[\frac{1}{1 - (\frac{z-4}{4})} \right] + \downarrow \quad \downarrow \quad \downarrow$$

$$= -\frac{1}{(64)(4)} \sum \frac{(-1)^j (z-4)^j}{4^j} + \downarrow \quad \downarrow \quad \downarrow$$

$$= \sum_{j=0}^{\infty} \frac{(-1)^j (z-4)^j}{4^{j+4}}$$

(8)

$$(B) \quad f(z) = \sum_{j=0}^{\infty} a_j (z-z_0)^j + \sum_{j=1}^{\infty} a_j (z-z_0)^{-j}$$

$$|f| \leq M \quad \text{in} \quad r < |z-z_0| < R$$

$$\therefore a_j = \frac{1}{2\pi i} \oint_C \frac{f(z)}{(z-z_0)^{j+1}} dz \quad \text{and} \quad f^{(j)}(z_0) = \frac{j!}{2\pi i} \oint_C \frac{f(z)}{(z-z_0)^{j+1}} dz$$

$$\therefore |f^{(j)}(z_0)| \leq \frac{j! M}{R^j}$$

now:

* $|z-z_0| < R$:

$$|a_j| = \frac{|f^{(j)}(z_0)|}{j!} \leq \frac{j! M}{j! R^j} = \frac{M}{R^j}$$

cancel, etc

* $|z-z_0| > r$

$$|a_j| = \frac{1}{2\pi} \left| \int \frac{f(z)}{(z-z_0)^{j+1}} dz \right| \quad \begin{array}{l} \text{Theorem 5} \\ \text{Page 121} \end{array}$$

$$\leq \frac{1}{2\pi} \frac{M}{r^{j+1}} \ell(C)$$

$$= \frac{1}{2\pi} \frac{M}{r^{j+1}} \cdot 2\pi r$$

$$= M r^j$$

length of C
 $C: |z-z_0| = r$
 $\ell(C) = 2\pi r$